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General Instructions -
Read the following instructions very carefully and strictly follow them -

@)

(1)
(iiz)
av)
v)
(vi)

This question paper comprises four Sections — A, B, C and D.

There are 40 questions in the question paper. All questions are
compulsory:.

Section A — Questions no. 1 to 20 comprises of 20 questions of
one mark each.

Section B — Questions no. 21 to 26 comprises of 6 questions of
two marks each.

Section C — Questions no. 27 to 34 comprises of 8 questions of three
marks each.

Section D — Questions no. 35 to 40 comprises of 6 questions of
four marks each.

There 1s no overall choice in the question paper. However, an
internal choice has been provided in 2 questions of 1 mark,
2 questions of 2 marks, 3 questions of three marks and
3 questions of four marks. You have to attempt only one of the
choices 1n such questions.

(vii) However, separate instructions are given with each section and

question, wherever necessary.

(viii) Use of calculators and log tables is not permitted.

SECTION A

Question nos. 1 — 10 are multiple choice questions. Select the most
appropriate answer from the given four options. Fach question is of 1
mark.

1.

The sum of the zeroes of the polynomial 3x% — 10x + 3 is :
4) 10

-

3
@

3

®) 1
The HCF of 135 and 225 is :
A) 9
B) 15
(C) 45
(D) 25
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N
® 2
(C) i
(D) 2%

4. 9% fgua sgug o I - 3,4 %, B -
(A) x2+x-12
@) xdex 12
(C) x2-Tx+12

(D) x2+ 7x-12

5. Togatl (-3, 2),(7,6) % Sied a1t {@REeS 1 ALA-fog 7 -
A) (-2,-4)
B2
C 4,2

D) 2,4
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3. A card is drawn from a well shuffled deck of 52 cards. The
probability that it is a card of black colour is :
1
o s
(A) 3
1
B =
(B) 5
1
o) =
(C) 1
3
D
(D) %6
4. The quadratic polynomial whose zeroes are — 3, 4 is :
(A) x2+x-12
By xZ-x-12
(C) x2-Tx+12
(D) x2+ 7x-12
5. The mid-point of line segment joining the points (- 3, 2) and
(7, 6)is : ' |
A (-2,-4)
B) (-2,4)
© 4,2
(D) (2,4)

3] P.T.0.



6. 195 (5,—6)F x-31&1 & gt (shreT A) 2 -
(A) 6
(B) 4
(C) <61

(D) -6

7. 840 I FHST HEAA & UHHA H 39 JHR foI@1 ST Fehall 2
(A) 22x6x5x7
(B) 23x3x5x7
(C) 2x3x4x3xT
(D) 3x5x7x8

8. UHh @ fag TH O g a0l I W &1 ¥4%1 W@M¢ TP qo1 TQ i< 18
&, S WER 55° % HIT R FH & | £ POQ HT AH 2 :

(A) 35°
(B) 125°

10
(©) 625

(D) 60°
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The distance (in units) of the point (5, — 6) from the x-axis is :
A 6

(B) 4

© o1

(D) -6

840 can be expressed as a product of prime numbers as :
A) 22x6x5x7

(B)} 23 x3x5x%x7

(C) 2x3x4x5x%x7

D) 3x5x7x8

From an exterior point T, tangents TP and TQ are drawn to a
circle with centre O, which are inclined to each other at an
angle of 55°. Then the Z POQ equals :

(A)  35°
(B) 125°

10
(C) 62E
(D) 60°

B) | e 7 BT,
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A) 314

(B 838333,

(C) 6:010010001...
D) 725
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10.

Which of the following is the decimal expansion of an irrational

number ?

A 314

(B) 3:3333...

(C) 6:010010001...
(D) 7256

The graphical representation of cumulative frequency

distribution is called :
(A) Bar chart

(B) Pie chart

(C) Histogram

(D) Ogive

Note - In questions 11 to 15, fill in the blanks, each question is of 1 mark:

1

12.

13.

If the radius of a solid right circular cylinder is 7 cm and its

height is 10 cm, then its total surface area is cm?2.

Given that in A ABC, £ B =90°, tan A = %, then the value of

sin C 1is

OR
Iftan 6 = %, then the value of cos2 0 — sin2 0 is

If the corresponding sides of two similar triangles are in the

ratio of 3 : 4, then the ratio of the areas of these triangles is

-430(B) g P.T.O.
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15.
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16.

17.

18.

19.

20.
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14. If the point P divides the line segment joining the points (3, 2)
and (6, 4) internally in the ratio of 2 : 1, then the coordinates of

P are

15. The values of ‘@’ for which the pair of linear equations

3x + ay = 4 and 5x + 3y = 8 will have a unique solution, are

OR

If the roots of the quadratic equation 2x2 — 8x + k = 0 are real

and equal, then the value of k is

Note - Answer the questions 16 to 20, each question is of 1 mark

16. Two dice are thrown simultaneously. Find the probability that
the sum of numbers appearing on the dice is six.

17. Find the common difference of the A.P. whose third term is 8
and the seventh term is 20. |

18. In a A ABC, DE || BC. If AD = 175 ¢cm, AB = 7 c¢cm and
AE =2 cm, then find AC.

19. Find the value of cos 0°. cos 30° . cos 45° . cos 60°.

20. Find the value of sin 30° . cos 45° + sin 45° . cos 30°.

SECTION B
Note - Question numbers 21 to 26 carry 2 marks each -

21. Prove that in two concentric circles, the chord of the larger
circle, which touches the smaller circle is bisected at the point

of contact.

22. There are 16 cards bearing numbers 1, 2, 3 ..... , 16 1In a bag. A
card is drawn at random from the bag. Find the probability of

getting a card having a multiple of 3 on it.

.430(B) 11 P.T.O.




23.

24.

25.

26.

TIM3T b sec 41° . sin 49° + cos 49° . cosec 41° = 2.

AT
If¢ cos(A —B) = sin(A + B) = 18, @ A9 B & T Fd hIfVT |
52 U<l hl I hT TH § W Th AT AlgTSAT e T | Wiiehar
FTa hIfSre T o I=im AT T o1 e STed O R |

JrqET

Teh 52 U=t ht A9 hI TS T T Guft S1esng, S q9n gees et feu
T JUT AT Tl Bl 3D YHR § e & 9 7§ 9§ UH U«
Iig=od (ehrel T | TR [ Hife Tk fehrem m uw () T
TR 1T U1 ®, 9T (i1) Teh AT T o1 9o 8 |

39 1 1 GRATT [ N S 3-5 Tt s 9t 99 & ufera s
TR |

T FE F 3 R 3 dwEE W o e wag R (S
g Tsh 9893) :
@)  x95Ix

Gi) x%t-x2+3

(1) x+1
(iv) 8(x3-1)

9
—X+5
(v) 3x

(vi) x4+ x3

(vii) x2-2x+1

(viii) x4 -1

(a) M ¥ forc wigug fgamdt sgug & 2
b)) (x4 +x3)H (x +1)F 917 AT |
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23.

24,

25.

26.

i
=

Show that sec 41° . sin 49° + cos 49° . cosec 41° = 2.
OR
If cos(A — B) = sin(A + B) = 1, then find the values of A and B.

A card is drawn at random from a pack of 52 cards. Find the
probability that the drawn card is a red face card.

OR

All kings, queens and aces are removed from a pack of
52 playing cards and the remaining cards are well shuffled. A
card is then drawn from the pack at random. What is the
probability that (i) it is a face card, and (ii) a card of red
colour ?

Find the perimeter of a square circumscribing a circle of radius
3:5 cm.

The students of a class wrote the following eight polynomials
(one by each student) on the blackboard :

i) x3+2x
i) x%¥-x2+3
(i) x+1

(iv) 8(x3-1)

2
—xX+5
(v) 3X

(vi) x4+ x3

(vii) x2-2x+1

(viii) x4 -1

(a) How many of these are quadratié polynomials ?
(b) Divide (x4 + x3) by (x + 1).

.430(B) 13 P.T.O.
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28.

29.

30.

31.

32.
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SECTION C

Note - Question numbers 27 to 34 carry 3 marks each -

27. From a rectangular sheet of paper ABCD, in which
AB = 40 cm, AD = 28 cm, a semi-circular portion with BC as
diameter is cut off. Find the area of the remaining paper.

22

(Usen= "=
7

28. Given that +/3 is irrational, prove that 5+/3 — 2 is an irrational

number.

OR

There is a circular path around a sports field. Sonia takes

18 minutes for one round of the field and Ravi takes

12 minutes for the same. Suppose they both start from the

same point and at the same time. After how many minutes will

they meet again at the starting point ?

29. Find the zeroes of the quadratic polynomial 6x2 + x — 2 and
verify the relationship between the zeroes and the coefficients.

30. Prove that tal,l e 011 0 tan20 — cot2 0.
sin O cos O ,
OR
Prove that — > . 4 e - M- 2+ 2 tan? A.

cosec A — 1 cosec A +1
31l. From a point 6 cm away from the centre of a circle of radius

3 cm, write the steps of construction for constructing a pair of
tangents to the circle.

OR

Write the steps of construction for dividing a line segment of
length 6 cm in the ratio of 3 : 2.

32. The coordinates of the mid-point P of the line segment joining
the points A(3p, 4) and B(— 2, 2q) are (5, p). Find the values of
p and q.
.430(B) 15 P.T.O.
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37.
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33. Prove that if a line is drawn parallel to one side of a triangle to
intersect the other two sides in distinct points, then the other

two sides are divided in the same ratio.
34. Solve forx and y:

4x + 3y = 72; x + 3y = 36.

Also find the value of p if 2x = py.

SECTION D
Note - Questjon numbers 35 to 40 carry 4 marks each.

35. From a point P on the ground, the angle of elevation of the top
of a 10 m tall building is 30°. A flagstaff is fixed at the top of
the building and the angle of elevation of the top of the
flagstaff from P is 45°. Find the length of the flagstaff and the
distance of point P from the building. (Take /3 =1-732)

36. A solid sphere of radius 105 cm is melted and recast into
smaller cones of radius 35 cm and height 3 cm. Find the
number of cones so formed.

OR
The surface area of a solid metallic sphere is 616 cm?2. It is
melted and recast into a cone of height 28 cm. Find the
diameter of the base of the cone so formed.

37. Prove that the lengths of tangents drawn from an external
point to a circle are equal.

OR
Prove that in a triangle, if the square of one side is equal to the
sum of the squares of the other two sides, then the angle

opposite to the first side is a right angle.

.430(B) 17 P.T.O.
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40.

T Tel o = § 50 USi T o Al hl g = 2
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50 — 60

60 — 70

70 — 80

80 — 90

90 - 100

gl shl &

12

18

10
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38. The 10th term of an AP is 29 and the sum of its first 20 terms
1s 610. Find the sum of its first 30 terms.

OR
The sum of the first 3 terms of an A.P. is 21 and the sum of
their squares is 155. Find the A.P.

39. Three consecutive positive integers are such that the sum of
the square of the first and product of the other two is 46. Find

the integers.

40. In an apple orchard, the number of apples on 50 trees is given

below :

| Number of apples

50 — 60

60 —70

70 — 80

80 -90

90 - 100

Number of trees

12

18

10

6

Find the mean number of apples on a tree in the orchard.

430B)
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